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$VVDODPXDOLXP�ZDUDKPDWXOODKL�ZDEDUDNDWXK�

3XML�V\XNXU�SHQXOLV�KDWXUNDQ�NH�KDGLUDW�7XKDQ�<DQJ�0DKD�(VD��DWDV�VHJDOD�UDKPDW�

GDQ�KLGD\DK�Q\D�VHKLQJJD�SHQXOLV�GDSDW�PHQ\HOHVDLNDQ�SUR\HN�DNKLU� LQL�GHQJDQ�EDLN�VHWUD�

WHSDW�SDGD�ZDNWXQ\D�

3UR\HN�$NKLU� LQL�GLEXDW�XQWXN�PHPHQXKL� V\DUDW�NHOXOXVDQ� WDKDS�$KOL�0DG\D�SDGD�

SURJUDP� VWXGL�'��7HNQRORJL�7HOHNRPXQLNDVL� )DNXOWDV� ,OPX�7HUDSDQ�8QLYHUVLWDV�7HONRP��

-XGXO \DQJ GLEDKDV GDODP SUR\HN DNKLU LQL DGDODK ³5DQFDQJ %DQJXQ $ODW 0HGLFDO &KHFN 8S�

%HUEDVLV�,QWHUQHW�RI�7KLQJV´�

8FDSDQ� WHULPDNDVLK� MXJD� SHQXOLV� VDPSDLNDQ� NHSDGD� VHPXD� SLKDN� \DQJ� WHODK�

PHPEDQWX� GDODP� SURVHV� SHQHOLWLDQ� GDQ� SHQ\HOHVDLDQ� EXNX� LQL�� 6HPRJD� EXNX� LQL� GDSDW�

PHPEHULNDQ�PDQIDDW�EDJL�VHPXD�SHPEDFDQ\D�

3HQXOLV�PHQ\DGDUL�EDKZD�SUR\HN�DNKLU�LQL�PDVLK�MDXK�GDUL�NHVHPSXUQDDQ��XQWXN�LWX�

VDUDQ GDQ NULWLN \DQJ EHUWXMXDQ PHPEDQJXQ GDUL SHPEDFD VDQJDW GLKDUDSNDQ GHPL SHUEDLNDQ�

GL�PDVD�\DQJ�DNDQ�GDWDQJ��'HQJDQ�VHJDOD�NHUHQGDKDQ�KDWL��SHQXOLV�EHUKDUDS�VHPRJD 3UR\HN�

$NKLU�LQL�GDSDW�EHUPDQIDDW�EDJL�NLWD VHPXD�
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